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( 0+000-0+760)

0.5km 15346
(711m)
( 0.5km) m? 4255
( ) m? 6339
( ) m? 3354
@mx1mx1m+1p) m? 2154.3
(1.5mx1mx1m) m? 1098.5
(3mx1mx0.5m+2p) m? 1098.5
(0.15m ) m? 533.3
(L0KN/m) m 7380.2
(448m)
( 0.5km) m? 4213
( ) m? 1705
( ) m? 1445
(2mx1mx1m+1p) m3 461.4
(1.5mx1mx1m) m? 692.2
(3mx1mx0.5m+2p) m? 692.2
(0.15m ) m? 302.4
(10KN/m) m? 3754.2
231 (450n  5m)
AC-13C ¢ 5em) m? 2317.5
m? 2317.5




)
3 5% (  20cm) m? 2317.5
4 ( 30cm) m? 830
8 ( 94%) m? 2019
6 m? 270
7 m? 2
8 €30 ( 12cm) m? 910
9 m? 7
10 C30 m? 7
11 « ) t 24.71
12 m? 1
13 m? 1.8




